
lOMoARcPSD|8436517



lOMoARcPSD|8436517

1 | P a g e

:



lOMoARcPSD|8436517

2 | P a g e

:

Answer

 It has helped me to do effective note taking.

 I have been able to access the knowledge of the law, which I have to applied in your

relevant lived situations.

 I have acquired research skills

 And prioritizing

ANSWER

This phase entails the generalizing of activities whereby you try to find information about

the topic or programme. It involves that you, the student, get the necessary background

information about the programme to be studied so that you become familiar with the

work

ANSWER
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With negative external motivation, fear is what pushes one to succeed. E.g. If you do not

pass Skills Course for Law Students module (SCL1501) you will not be allowed to

register for another LLB course.

Conversely the latter is due to promise of something good e.g.

If you pass your first year courses you will be given a bursary.

Answer

It enables one to achieve the set goals and commitments thus avoiding the risk of

breaching the contract.

Answer
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This means one looks at the available time at one‘s disposal and allocates that time to

such activities according to their order of urgency and importance. More time will thus

be allocated to the more important activities and less time to the less important ones.

Similarly, one will attend to the more urgent issues before those that are less important.

Answer

There will be equitable allocation of time to all modules

Time tables prevent procrastination
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Answer

I unconsciously learnt how to talk by being part of the family group.

I gained self confidence by socializing with other people.

Sharing by receiving from other people. Etc.

Answer

The person in the middle is responsible for the flow of communication. This model is

suitable for simple tasks. A disadvantage is that the central figure can be overloaded with

information or he/she can block the flow of information. This pattern of communication

is used in most meetings where all members address their comments through the

chairperson. The success of this method therefore depends a lot on the leadership abilities

of the person in charge.
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:

Answer

A summary is a short or brief way of representing the contents of the original text. Thus

only the main important ideas of the original text will find space in the summary.
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Answer

Nosipho molefe had her private parts burnt after using toilet paper containing spray paint.

She learnt that the company had marked the tissue with spray paint because employees

were stealing it.

She has suffer a combination of urinary tract infection, intra-abdominal infection,

ischemic heart disease and hyperlipidemia.
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She has spent R26 000 in medical expenses and Trident confirmed that it was aware of

Molefe‘s complaint and was investigating the matter.

Answer

 As an attorney you will keep account of your clients‘ money in a trust account.

 As an executor of an estate should be able to calculate monetary value of the estate,

Master‘s fees, and administration fees of the estate.

 Certain areas of law such as tax law or commercial require fairly advanced

mathematics literacy.
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Answer

= R19000 + R2330 + R920,50 + R53,50

=R22304

Answer

MALO = ½ * 60 000 = R30 000

LENZO = 1/3 * 60 000 = R20 000

FOSTA = R60 000 – R50 000 (30 000 +20 000) = R10 000

Answer

7.5/100 * 7300= 547

R7 300 + 547.5 (Increase)

= R 7847.5
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Answer

LINAH = 3/6 * 320 000

=R 160 000

MAGGY = 2/6 * 320 000

=R 106 666.67

MMAKOLE = 1/6 * 320 000

= R53 333. 33

(Hint 6 is from adding 3 +2+1)
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Answer

100/114 * R468,50 (That‘s the formula)

=R 410.96

Answer

Ngidi was 56% negligent thus;

Pre- accident value – value of wreck (R280 000 – R19 000 = R261 000)

56/100 * 261 000 = R 146 160

Ngidi has to pay Starros R146 160

Starros =30/100 * 189 000 = R 56 700

Starros has to pay Ngidi R56 700

It does not make sense that Ngidi pays R146 000 to Starro and then Starro to pay

Ngidi R 56 000. Ngidi will pay Starro R 146 160 – R56 700 = R89 460
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Answer

16 / 100 * 150 = 24KM

150 – 24 = 126 KM
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Answer

SERVICES RENDERED FEES EXPENSES

VAT included VAT excluded

Wrote and posted 13 letters (13 * R85) 1105

Received 9 letters ( 9 * 35) 315

Summons ( 4650 *2) 9300

AFFDAVIT (65 * 8) 520

Consultation (450 *6 ) 2700

Telephonic consultation (285 *4) 1140

Stamps (13 * 7) 91

Advocates’ fees 980

Surgeon fees 4900

15080 5971

Plus VAT 14% 835.94

8606.94

R 10 16.94
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Answer

Know the kind of information you will need for the file: personal details, addresses,

employment, contact numbers, marital status, identity documents, birth certificates etc.

Research the applicable law. If, for instance, the matter is about your client‘s dismissal from

work, you may have to refresh your knowledge of Labour Law.
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Read textbooks on the issue and get relevant cases on dismissals and related topics. Make

sure the cases deal with facts similar to the ones regarding your case.

Jot down the relevant facts or aspects that you consider essential to the case, or that which

you think you might need to prove your case. These will inform the type of questions that

you have to ask.

Answer

What‘s your name?

How do you prefer to be called?

How are you feeling now etc?

Answer

My name is…………………………… I am representing mrs…...........................I kindly ask

for your help to testify since you witnessed what happened. Your cooperation will be greatly

appreciated.
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Answer

Please tell the honorable court your name and occupation

Why are you in this court today?

What makes you sure that it was the toilet paper which burnt your private parts

Were you alone when the incident occurred?

.

Answer

As it pleases the court, my name is council............................and I am appearing before this

honorable court on behalf of the respondent who happens to be the employer of the plaintiff.

I will make my submissions to this court on three issues which will prove to this honorable

court that the respondent has no liability as claimed by the plaintiff.
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Answer

 I pray that the court finds the conduct of the defendant wrongful and to be the cause

of the patrimonial and non patrimonial loss suffered by my client.

 That my client be reimbursed of past, present and future medical expenses

 An order of costs on client to attorney scale.

Answer

Logic is the study of rational thinking, and it is concerned with the structure of valid

arguments. It helps lawyers to solve legal issues by argumentation

Answer

The form is the same as for deduction but the conclusion contains something new, something

more in that it goes beyond the premises. On the ground of some observations, scientists

make claims that cover ALL future instances, eg ‗Water boils at 100 degrees centigrade‘,

‗All objects gravitate to the centre of the earth‘, and ‗Dreams have deeper meanings
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:

Answer

The conclusions that do not follow the premise that they are supposed to be derived from

Example:

Premise 1 My dog has a tail

Premise 2 All horses have tails

Conclusion My dog is a horse [False!]

Answer

Sending a massage without written or spoken words.
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Answer

The importance of non-verbal communication to a lawyer‘s world of work lies on the fact

that legal practice is based on persuasion and credibility. By way of an example, you have to

somehow persuade your client that you can win the case, or you have to persuade the

presiding officer (magistrate/judge) to accept your line of argument, and so forth. Non-verbal

communication plays a very important role in this regard.

Answer

This is academic dishonesty called plagiarism and can result in serious disciplinary measures.
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Ans.0wer

After the date of commencement as stated in the Act itself, or at a future date to be decided

by the president by publication in the government gazette.

Answer

 On internet i.e. (www.gov.za)./SAFLII

 Some are published in the government gazette

 Library

Answer

SA – south African Law Reports
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South African Criminal Law Reports

Answer

Writings of old Roman Dutch Jurists.

Answer

This means that whenever there is a dispute concerning any part of the Act, the signed

version will be the official version.
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Answer

This means one will look at external circumstances in explaining the reason the Act came

into being. They will investigate the reasons why the Act was necessary. They might

therefore also consider the socio-economic and political or historical scenario in which the

Act was formulated.

Answer

Judges names

Date the case was decided

Catch phrases fly/note

Head notes

Summary of heads of argument
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Answer

The term, ‗‗legal representatives‘‘ refers either to advocates or attorneys. Thus there is no

difference.

Answer

Case name

Year and volume

Series of law reports

The page where the report starts

The court where the case was decided

Answer

The headnotes are also written by the editor of the law reports, who is employed by the

publishers. The headnote is a summary of the case. It includes all the aspects of the case

that the editor considers to be important.
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Whereas

The catch phrases, also called a ‗‗flynote‘‘, are the most important points with which the

judgement is concerned. The catch phrases are put in point form and are separated by

dashes. You use the catch phrases of a case to get a rough idea of what the case is about.

Answer

The summary of heads of argument is a summary of the arguments and authorities which

the lawyers presented to the court.

Answer

The former refers to the decision of the court e.g.

The conviction of the appellant is confirmed.

The sentence imposed by the magistrate is set aside and substituted by the following:

The accused is sentenced to pay a fine of R1 000.

Whereas;

The latter refers to the costs are the expenses involved in the case. Legal costs usually

include both lawyers‘ fees, and the expenses involved in running a case, such as fees for
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subpoenas, witnesses, and getting copies of records, and expert reports. These expenses

are called ―disbursements‖.

Answer

The former is in the court of first instance when proceedings are instituted for the first

time whereas the latter is on appeal. Whoever appeals is the appellant.

Answer

Intention to injure
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Answer

To one consenting no wrong is done
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Answer

As a subjective being, a learner gets involved and participates in the process. The concept

‗subjective being‘ is important for learning. It presupposes that the learner is expected not to

behave like an ‗object‘ in the learning situation. In this regard, the learner will thus be

expected to be an active participant with values, ideas, experiences and a mind that has the

potential to reason critically It brings about a more or less permanent change in the learner

(that is, it has a meaningful impact on the learner).
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Answer

When one priorities activities one looks at the available time at one‘s disposal and allocates

that time to such activities according to their order of urgency and importance. One will

naturally allocate more time to the more important activities and less time to the less

important ones. Similarly, one will attend to the more urgent issues before those that are less

important.

It will thus be wrong to choose ‗going to a football match‘ over preparing for the

SCL1501semester examination.
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A learning contract is a binding agreement or pact that a student enters with himself or herself. It

is like a personal mission or vision that a student has as his/her guiding principle in respect of

his/her studies. It is regarded as seriously as one would if one had entered into an agreement with

another person. Key or general characteristics of a contract should be present here (e.g. date,

witnesses, signatures, place, breach clause, remedies and so on). A striking feature for learning

contracts is manly that only one party (i.e. the student) is involved in the agreement. In other

words, the student contracts with himself or herself.

Answer

It would look like;

Contract of learning between…………………… and ……………………..

The parties are hereby bound to the following clauses;

Here state your vision and guiding principles.

…. And that in the event of breach of contract contractual remedies are applicable

Signed on this day of………../ month/ 2014 at…………………………
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:

Signatures…………………..

Signature of witness 1………………………..

Signature of witness 2………………………..

Answer

This means the person in the middle/chairperson is responsible for the smooth flow of

information. If he/she does not have good leadership qualities and is overloaded with

information, he/she can block the flow of information. The central figure thus has to be endowed

with good leadership qualities.

This pattern of communication is used in most meetings where all members address their

comments through the chairperson.
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Answer

 Good notes develop from effective reading and listening strategies.

 Note making is an active process, and it promotes learning.

 Note making helps you sustain your concentration when you study.

 As far as possible, write notes in your own words, and in phrase-like format.

 Try to leave enough space in the margins, between the words, sentences and paragraphs.

This makes your notes neat, easy to read and uncluttered. It will also be possible to fill in

more information later on when you revise them.
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Answer

Point out the good and bad characteristics and give your own opinion after taking all the

facts into account.

Answer

Identify the similarities or differences between facts or examine the differences between

ideas, facts, viewpoints, etc.
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Answer

= 110 - 12/100 * 110 = 96.8km/hr

Answer

= 30km – 15/100 * 30 km = 25.5km
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Answer

13 (total number of settlements) – 2 = 11

Answer

204 000 +14/100 * 204 000

=323 560

Answer

120.00 * 14

=R1680
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Answer

R746 (The money he makes a day) * 14 (the number of days he is unable to work)

= R 10 444

Answer

The amount based on his ordinary everyday earnings

Use method in question 17 ABOVE.
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use the methodology in the previous paper.
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Answer

How has been your day so far?

Did you watch the match? Which team were you supporting?
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Answer

From the facts, it looks like we have a case. I will do everything humanely possible to ensure that

you succeed in your claim. You are in safe hands.

Answer

How far were you from the scene of the accident?

Can you please explain to me what you saw?
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Answer

As it pleases the court. Your honor, my name is counsel......................................appearing on

behalf of the plaintiff Mr Ngigi in the matter between him and the Defendant Mr Matopola

concerning the motor vehicle collision which tok place on……………. At.............................I

will make my submissions to this honorable court on the following issues.................................I

will prove t this court that the collision was due to MrMatopola‘s sole negligence.

Answer

I would raise an objection to the manner in which he is questioning his client. The questions are

leading questions and thus, he is putting words int the mouth of his client.
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Answer

The loss of potatoes he was carrying to do business

The bodily injuries he suffered

The hospital expenses

See prayers above in the previous paper.



lOMoARcPSD|8436517

43 | P a g e

See answer in the previous paper above.

Answer

Attacking the arguer instead of the argument that he/she is making. This is the equivalent of

―playing the man rather than the ball‖. It should however be noted that whatever is said about a

person does not affect his/her argument.

Eg your attitude is as ugly as you are.
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Answer

Primary is authoritative whereas secondary is persuasive.

Answer

Look up in law reports eg

CLR Commercial Law Reports

SALLR South African Labour Law Reports

BCLR Butterworth‘s Constitutional Law Reports
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Surf the internet

Answer

The former is found at the beginning of a book

The latter is found at the end
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Refer to previous paper

Answer

These are e things you look at;

When was the article published? (In other words how old is the article, is it relevant?)

Was it published before or after the new Constitution?

Who is the author/writer of the article? Is he/she an authority on the topic? Has he/she written

other articles in the same field as well?

Answer

CLR Commercial Law Reports
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SALLR South African Labour Law Reports

BCLR Butterworth‘s Constitutional Law Reports

See question 6 above.

Answer

South African Law Reports

Answer

Constitutional Court
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Answer

Volume

Answer

Page 533

Answer

It is an authoritative source of South African law

Answer

A preamble is an introductory statement in a document that explains the document‘s

purpose and its underlying philosophy. The preamble of an Act thus outlines the

underlying philosophy of an Act.
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Answer

The significance is that whenever there is a dispute concerning any part of the Act, or

any conflict with the translated version the English version will be the official version.

Answer

It is an interpretative tool used to give the meanings of words as they are used in the

Act.

Answer

Short title

Long title

Preamble

Definitions

Sections, subsections, paragraphs and sub paragraphs.
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Answer

Answer

An act of parliament can stipulate when it will commence at the end of it, or it may
state hat it will commence at a date to be determined by the president by publication in
the government gazette.

The former constitutes Acts of parliament promulgated by the legislature while the
latter is Roman Dutch Law as influenced by English Law and contained in the writings
of Roman Dutch Jurists.

Answer

High court and Magistrates Courts.
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Answer

Answer

Precedent system means decision of higher courts are binding on lower courts and that
a court is bound by its previous decisions.

A majority judgment means that the majority of judges who have heard a particular

case give the same judgment based on the same reasons. One judge gives the judgment

and the others concur (agree) with it.

Answer

In a minority judgment the judge disagrees with the majority and reaches a different

conclusion. In such a case a judge differs from the majority of judges as far as the

judgment and the reasons for the judgment are concerned.
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Answer

Sometimes a judge does not disagree with the conclusion of the other judges, but has

different reasons for his/her judgment. Any reasons added by the judge for his/her

judgment, do not establish a precedent.

Answer

Legislation is presumed not to contain meaningless sections – every word and phrase

therefore is presumed to have meaning.

Legislation is presumed not to change existing laws unless it states so explicitly.

It is presumed that legislation does not intend unreasonable or unfair consequences.

Legislation is presumed to only apply to future events and not retrospectively
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Answer

Law in the strict sense is the only body of rules governing human conduct that is recognized

by the state and if necessary, enforced. Although some rules are law, not all of them are laws

and are thus not enforced by the state.
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Answer

Restore the legal balances

Rehabilitate the offender

Prevent the offender from committing a similar crime and the society as well (individual and

general deterrence)

Protect the society from the offender.

Answer

Fine

Imprisonment

Community service
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Answer

Studying is when you physically engage in the process of organizing the study materials (e.g.

books, cases and Acts) and using them in order to acquire knowledge for a certain purpose

(e.g. writing assignment and passing exams).

Whereas, our study process or methods lead to learning.

Answer

Studying requires that you use various skills that include;

Finding and reading textbooks and other texts,

Organizing your own notes,

writing assignments and essays in an academically acceptable manner, preparing for tests and

exams and demonstrating your competence in that regard etc.
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Answer

Facts are deposited into the pupil‘s brain until they are withdrawn at the right moment, for a

particular purpose. Thus, there is no chance for the pupil to challenge, criticize, discuss or

interrogate the ―deposited‖ information.

Answer

Dialogue enables a learner to interact with other students and lecturers. This enables them to

share information thereby enhancing the learning process.
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See question 2.5 May June
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 Answer

 The urgency of the activity

 The relative importance of the particular activity in relation to other activities

 The anticip

 ated degree of difficulty

 The likely time needed to complete the activity

 The scope and volume of the work involved.

Answer

No man is an island. It is important to work in groups and a lot is learnt in the process.

Conversation/argumentation shows gaps in knowledge and abilities and can also force

one to work out conclusions, implications or applications which you were not aware of

previously.
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Answer

The central figure model;

The person in the middle is responsible for the flow of communication.

• This model is suitable for simple tasks.

• A disadvantage is that the central figure can be overloaded with information or he/she

can block the flow of information.

• This pattern of communication is used in most meetings where all members address

their comments through the chairperson. The success of this method therefore depends a

lot on the leadership abilities of the person in charge
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Answer

Legal studies or legal practice require numeracy skills. A lawyer will need pay

employees their salaries, work out consultation fees, divide estates, determine damages

especially concerning motor vehicle accidents, work out the interest on defamation

claims, and so on.

I Answer

t will indeed be a sad situation if your clients were to discover that you cannot do

simple, and basic, numeric aspects. they will not be confident that you can be relied on if

you can‘t take care of their affairs (e.g. claims, accounts, estates)
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Answer

=R450 000/3

=150 0000

Answer

12 000 + 13 000 + 11 000 /2 = 12 000
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Answer

JUNIOR IS 36% Negligent

Thus 36/100 * 320 000 – 78 000

= R 37 200 (Amount to be paid to Mogale)

Mogale is 53% negligent

=53/100 * 240 000

=R 127 200 (Amount to be paid to Junior)

It doesn‘t make sense that Junior pays R37 200 to Mogale while Mogale pays him R127 200
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So it will be set off as follows. 127 000 – 37200

= R90 000 Which Mogale will pay to Junior.

Answer

This refers to the scrap value of the car, or the value of the asset after it has come to the end

of its useful life. The Benz‘s useful life ended after the accident. Therefore the value of the

wreck is R78 000.
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 Answer

 I will start off by showing interest in the client or witness.

 I will not rush into the main issue that has necessitated the interview. I should allow

them to relax.

 Enquire about his/her name, and how he/she would prefer to be called.

 Talk about general things, eg what could be happening in the wider social sphere, like

sport etc

 If possible I can offer him/her tea, coffee or a soft drink.

 Reassure the witness about the confidentiality of the discussion or interview.

Answer

A safe approach is to ask the client to give a short outline of what happened. I should do

this to give myself the opportunity to get the general sense of the ‗‗story‘‘. I will take

notes as he/she speaks so that I have the necessary information. I also may stop the
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witness if he/she speaks too fast or if I want something clarified. After this initial run, I

may politely ask him/her to start the ‗‗story‘‘ from the beginning so that I van get an

outline of the events again. At this stage I can check for inconsistencies.

 Answer

 Be empathetic.

 A good listener keeps eye-contact and responds to the speaker accordingly.

 A good listener also listens with his/her eyes

 A good listener also participates in the interaction, silently, by active body

language

 A good listener seeks clarification where there is any misunderstanding, or signs

that there is coherence in what is being presented

 A good listener cares about the speaker and other role players in the listening

context, and value of the messages (not necessarily that he/she agrees).

 A good listener pays full and genuine attention to what is said. He/she does not

fake attention.

 A good listener must be open-minded. Allow your mind to be open to new ideas

and criticisms and thus be comfortable with ideas you may not agree with
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Answer

See answers in above questions.

Answer

Follow the answers above

Answer

Here you are asking the court to grant you certain relief even an order of costs. See also answers

above in the first paper.
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Answer

Argumentum ad hominem;

(Personal attack) — attacking the arguer instead of the argument that he/she is making. This is

the equivalent of ―playing the man rather than the ball‖. It should however be noted that

whatever is said about a person does not affect his/her argument.

Argue from authority;

- In this instance, the arguer introduces a name in an attempt to strengthen the argument. There

is a correct way of using authority, ie the name stands for an argument or an accepted view.

However, to rely on a name to bolster a weak argument cuts no ice.

Answer

remise refers to a previous statement, or proposition from which another is inferred or follow as

a conclusion. The conclusion thus follows the premise. If the premise is true, then the conclusion

must be true.

E.g. Premise 1. My dog has a tail

Premise 2. All horses have tails
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Conclusion. My dog is a horse [False!]

I Answer

nvestigate complaints and try to resolve them

Identify systematic issues leading to poor service or breach of people‘s rights.

Answer

These are the major role players upon whom a matter civil or criminal matter is dependent.

Without these role players there is no case.
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Answer

The former is referred to as an inferior court whilst the later is called a superior court

The former is established in terms of a statute, (the magistrate court act) whilst the latter is not

The latter has a greater jurisdiction than the former

Presiding officer is called a magistrate in the former whilst in the latter it‘s a judge.

Answer

The work of an attorney includes general matters and resolving legal issues such as drafting

contracts, wills, affidavits, and so forth. An attorney mainly practices in the lower courts and

deals directly with the clients (or members of the public).

Answer

The term ―presiding officers‖ is generally used to refer to judges and magistrates who take

charge of the court proceedings or proceedings in any tribunal and make findings and orders
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after hearing evidence (and arguments) on the matters at hand. Preside over matters or cases

brought to the higher courts. Magistrates serve in the lower courts, namely district and regional

magistrates‘ courts.

Answer

For one to be an attorney, one has to complete an LLB degree offered at a recognized university,

pass the admission examinations set by the Law Society of South Africa and further complete the

required time serving under an experienced attorney in terms of a contract of articles or

clerkship. The admission to practice as an attorney is regulated in terms of legislation

Any person with an LLB degree can be admitted as an advocate. However, in order for one to

become a member of the Bar, one has to serve what is termed pupilage. Pupilage is a period of

unpaid training and mentorship under an experienced advocate(s). Two experienced advocates

normally mentor a trainee advocate. After the completion of the pupilage, the trainee advocate

must pass the Bar Council examinations
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Answer

Paralegal

Legal secretary

Answer

On a date stated therein as the commencement date

Or

At a date to be determined by the president and through publication in a government gazette.
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Answer

Appeal is when one takes a matter to a higher court with appellate jurisdiction because he/she is

not satisfies with the decision of the trial court. Eg in Molefe v Mahaeng 1999 (1) SA 562 (SCA).

Mr Molefe appealed to the Supreme Court of appeal and the result was that the appeal failed and

was dismissed with costs. Both criminal and civil cases can be appealed against.

Answer

Summonses are issued by the plaintiff out of the relevant court. They are served by the sheriff on

the defendant. The parties exchange pleadings until closure of pleadings and discovery of

documents (where relevant). The matter will then be set down for trial.

Answer

Answered above
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Answer

An action brought in court to enforce a particular right.

Litigation involves a series of steps that may lead to a court trial and ultimately a

resolution of the matter.

Answer

Statutes are Act of Parliament. This includes National legislation, provincial legislation

municipal by laws and regulations issued by the minister. Their importance is that it is

authoritative source of South African law.

Answer

Answered in the first paper above.
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Answer

Answered above
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Answer

Law creates and maintains peace and order in the society by balancing the interests of the

individual and those of the larger community or the state. Protection of the citizens (and non

citizens) is controlled by the Constitution which guarantees that their human rights will be

protected against arbitrary violation by the state and other individuals, groups and organizations

that are more powerful in various senses.
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answer

The difference is the same. An Act of parliament is an authoritative source of Law in South

Africa hence it is law in itself. These two are therefore one except for that the term law is all

encompassing other sources of law as well such as common law, case law etc.

Answer

Paulo Feire refers to this system of ―learning‖ as banking education. The metaphor of a bank

comes to the fore because, as we have just said, facts are deposited into the pupil‘s brain until

they are withdrawn at the right moment, for a particular purpose. Thus, there is no chance for the

pupil to challenge, criticize, discuss or interrogate the ―deposited‖ information. In this sense

students are considered empty vessels waiting to be filled with the type of knowledge required.
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Answer

Learning involves that the pupil (learner) actively, and as a subjective being, gets involved and

participates in the process. It brings about a more or less permanent change in the learner (that is,

it has a meaningful impact on the learner).

The concept ‗subjective being‘ is important for learning. It presupposes that the learner is

expected not to behave like an ‗object‘ in the learning situation. In this regard, the learner will

thus be expected to be an active participant with values, ideas, experiences and a mind that has

the potential to reason critically. These two can thus not be divorced one from the other.

Answer

Answered already above
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The group members must have and understand their common objective. Furthermore group

members must observe the basic house rules for example, one person can speak at a time,

observe time (punctuality) for meetings, and must prepare for group meetings.

Group members must have their roles defined. For instance, who will be the chairperson of the

sessions, the scribe, time-keeper, organizer of venues, and so on. Members must have confidence

and trust in one another. The group must be manageable. There should not be too many

members. An effective group normally has between three and five members
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Answer

Answered above

Answer

183 -17/100 *183

=151KM
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Answer

250 000/ 9,50

= $26 315

Answer

Please see similar questions above and follow method of calculation
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Answer

You will see that the method doesn’t change

NB; If the charges are, say R30 for 15 mins or any part thereof, and suppose the consultation was
for 16 mins, the amount to be charged is R60 because the extra minute will be regarded as 15
mins as well, hence the phrase ―any part thereof.
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Services rendered fees expenses

VAT included VAT excluded

Letters written (10 *45) 450.00

Summons 688.99

Affidavit (10 * 35.02) 350.20

Consultation (350.00 * 4) 1400.00

Telephonic consultation (55.55 * 5) 277.75

Hospital expenses 4750.00

Advocate‘s fees 1350.00

6100.00(excl VAT)

Add VAT 14% 6954.00

NB; In this question you were only required to calculate the total expenses
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Answer

Research the applicable law on unlawful arrest and detention. Jot down the relevant facts or

aspects that I consider essential to the case, or that which I think I might need to prove my case.

These will inform me on the type of questions that I will have to ask.

Answer

What‘s your name and how do you prefer do be called.

If he watched the last soccer match and which team he supports to avoid delving directly into the

case thus giving him time to relax.

If he would care for a drink, this would make him relax and feel welcome.

I would then ask him to give me a blow by blow account of what happened to get the gist an the

merits of the matter
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Answer

I am the proxy

Answer

Show empathy by nodding or shaking my head as he explains

Give facial expressions which indicates that I feel how he feels

Maintain eye contact

I would also pay genuine attention

Answer

See answer above

NB; See the extract below from you study guide.
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(a) Opening address

The purpose of the opening address is to introduce the matter to the presiding officer (magistrate

or judge) briefly and simply. Normally, an opening address has the following segments:

• Address the magistrate: ‗‗Your worship‘‘.

• State your name: ‗‗My name is Makolobe Nkgapele from Lephepane Attorneys‘‘.

• State for whom you act: ‗‗I act for the plaintiff, Ngidi Nkoana (or defendant, Matome

Motapola etc)‘‘.

• State what the matter is about: ‗‗This is a claim for damages resulting from a motor collision

that occurred on 24 September 2012 at the Bindzulani intersection near Nkowankowa township

on the Lydenburg Road between Tzaneen and Lenyenye‘‘.

• State the issue in dispute: ‗‗The parties differ on the quantum of the claim‘‘.

• State what evidence you will present: ‗‗I will call Prof Duvenage, an expert in reconstruction of

accidents, as well as Mr Seshoka (delete), a panel beater from Lenyenye, as witnesses‘‘.

Answer

The defendant
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Answer

I would object to the line of questioning.

The reason is that the questions are leading questions.

Answer

Cross-examination is the questioning of the other side‘s witness to check, challenge or extend the
testimony already given by that witness, thus it is done by the opponent. Its purpose is to punch
loopholes into the witness‘s version.

Whereas

Re-examination is conducted after your witness has been cross-examined. Generally, the purpose
of re-examination is to try and lessen or repair the damage done during cross-examination. It is
thus carried out by the lawyer on his client.

Answer

The former refers to attacking the arguer instead of the argument that he/she is making. This is

the equivalent of ―playing the man rather than the ball. (give example)

Whereas

The later refers to conclusions that do not follow the premise that they are supposed to be

derived from
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Example:

Premise 1 My dog has a tail

Premise 2 All horses have tails

Conclusion My dog is a horse [False!]

Answer

The SHRC is tasked with monitoring both pro- actively and by way of complaints brought

before it, violations of Human Rights and seeking redress for such violations. It also has an

educational role.

Answer

These institutions or bodies include the

Public Protector,
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The South African Human Rights Commission,

The Commission on Gender Equality,

The South African Law Reform Commission,

And various ombudsmen

Answer

The Greek prefix ―para‖ roughly translated means ―beside‖. Thus, a paralegal is a person who

works ‗beside‘ attorneys to assist them with tasks ancillary to legal matters. Examples of such

tasks include legal research, debt collection and the managing of a professional practice. They

may also work in banks, corporate law firms, government departments (e.g. Department of

Justice and Constitutional Development), legal advisory bodies and NGO‘s.

Answer

Articles of clerkship‖ refers such a contract between the candidate attorney and the principal

attorney. This contract is registered with the Law Society. The basic terms of this

agreement/contract is that the principal attorney will assist and train the candidate attorney, as

well as offer him/her the opportunity to prepare for his/her admission. It is thus a pre requisite to

become an attorney.
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Answer

Generally, the work of advocates is provided to them by attorneys to act for their clients. These

instructions, from attorneys, are called briefs. In this regard, it is noteworthy that advocates do

not interact directly with clients, but take their instructions from the attorneys who then pay them

honoraria for their services. We also call advocates counsel. They appear in superior courts and

magistrate courts.

Answer

Citizens institute legal actions, become victims at one point or another can be a witness, they can

also institute private prosecution.

Answer

The Greek prefix ―para‖ roughly translated means ―beside‖. Thus, a paralegal is a person who

works ‗beside‘ attorneys to assist them with tasks ancillary to legal matters. Examples of such

tasks include legal research, debt collection and the managing of a professional practice. They

don‘t practice.
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Whereas

A candidate attorney refers to someone under training or supervision of an experienced or

principal attorney and serves a contract of clerkship. He/she is thus not yet an attorney but

becomes an attorney upon completion of the articles of clerkship.

Answer

Coming to force means commencement of legislation. This refers to the date the Act can be used

as Law in any matter. The date may be stated in the Act itself or determined by the president

through publication in a government gazette.

Answer

This refers to a judicial proceeding brought by one party against the other or the process of

enforcing the law by proceedings within a court system, ie Molefe v Maheng, Mr Molefe sues

Mr Molefe.
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Answer

The head note is a summary of the case. It includes all the aspects of the case that the editor

considers to be important. It usually includes the area of law that the case is concerned with as

well as the ratio of the case. The head note is useful because it gives you an idea of what the case

is all about.

Answer

Generally an order is what follows a hearing whereas a judgement follows a trial. A judgement is

the final, decisive act that resoles a dispute in court. It is always in writing and signed by the

judge giving it. An order on the other hand resolves dispute between parties but does not

normally resolve the entire case. Dozens of orders can be issued before the final judgement.
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Answer

Answered above

Answer

Any reference to a particular case will always start with the name of that case; that is the names

of the parties (or persons) involved in the case. It helps one to understand the nature of the case

(whether it‘s a criminal or civil case).

Answer

Summons is an authoritative document issued by the clerk of court or registrar as the case may

be, and saved upon the defendant by the sheriff of the court notifying him/her of proceedings

instituted against him/her. They are thus used to commence action proceedings. There are civil

summonses as well as criminal law summons.
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Public notices

New Acts of parliament

Rule nisis

etc

Answer

Answered above
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